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1= Subtract [3, Sqrt [4]]

Out[1]= 1

In[] out[]
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2= 3-V4
Out[2]= 1
Mathematica YES
Mathematica OS Mathema-
tica
Mathematica
Mathematica C++ Java 1
"Hello,World" main

n@Er= Print ["Hello, Wrld"]

Hel | o, Worl d
1 C
4= a+3
outd= 3+a
Mathematica
" "a>9" . a 9

ns= a+3 /. {a-> 9}

outsl= 12

Mathematica

nel= expl = x2 +y? = 1;
exp2 =y -2x>+3/2=0;
Contour Pl ot [Eval uatee {expl, exp2}, {x, -1.5, 1.5}, {y, -1.5, 1.5}, InageSize » 200]

15F =
10f ]
0sf ]
Out[8]=
-05 — ]
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o= pts = Sol ve[expl &&exp2, {X, Yy} (* *)

out[9]= {{y -> —

el

NENORE
(expl) (exp2)

in[01:=  Show[ {Cont our Pl ot [Eval uat ee {expl, exp2}, {x, -1.5, 1.5}, {y, -1.5, 1.5}],
Graphi cs[{Red, PointSi ze[Medi um], Point [{X, y} /. pts]1}]}, | mageSi ze - 200]

15F ]
10} .
05[
00[ ]
out[10]= 1
-05}
-10[
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X =1
X 1 X 1
Mathematica X 1 X
1
Mathematica
1= X =1
ou11= 1
2= Y = X; (% X y *)
X = 2;
y (% X y *)
outj14)= 1

n[is)= r = RandonReal [];
{r, r,r, r}

out16]= {0. 381909, 0.390127, 0.910411, 0.50408}
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= late binding =

n171= r = RandonReal [1];
{ryr,r,r}

ouigl= {0. 988953, 0.988953, 0.988953, 0.988953}

Mathematica

r=RandomReal[]

r:=RandomReal[] =

r r r
RandomReal[]

o= {RandonReal [], RandonReal [], RandonReal [], RandonReal []}

ou19)= {0.972079, 0.144552, 0.610171, 0. 331097}
Mathematica

Mathematica
In[20]:= Y

out20]= 1
1= Clear [yl ¥y

out21]= Y

Clear

in[22]:= Renovely]

Mathematica y

3= Clear [x, Yy, r]

RandomReal[]
RandomReal[]

{r,rrr}

{r,rrr}

Mathematica

n4= i =l nport ["Exanpl eData/l ena.tif"]

out[24]=

Import
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Mathematica

( Graphics Circle Red, Thick, Dashed Circle ImageSize

inf2s):= List[3.14, I mageMul tiply[i, 3.14],
Graphi cs[{Red, Thick, Dashed, Grcle[]}, | nageSize » 100]]

F| r .

.[ ! b /," ~\\\

| \ 7 A / \

. ! \
out[25]= {3. 14, b= - , { l}

|

I \ 1

' ‘\ /'

! \ /

| 1 P S
Mathematica
neer= {3.14, i, ImageMultiplyl[i, 3.14]}
out[26]= {3. 14, }
Ve
in271:= | mageDi nensions[i ] (* *)
out27]= {150, 116}
Mathematica
inf28):= | mageTake[i, 50]
out[28]=
&
n2oi= | mageRotate[i, Right]
Oout[29]=
Table 15° Table ImageRotate
ImageRotate Table 0 2Pi

Pi/12 ImageRotate i 0
{100,100} Transparent
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nzoj= m= Tabl e[l nageRot ate[i, 6, {100, 100}, Background » Transparent], {e,

., 2Pi, Pi 712}]

out[30]=
Mathematica 4,000
? Rotate
>>
Help
in[31):= ? *Rot at e*
v System’
ImageRotat- ImageRotat-
e ed Rotate RotateLabel RotatelLeft RotateRight
Help Help
Help
Mathematica

n32= Length[m]

out[32]=

25
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in[33:= m// Length

out[33]= 25

in[34]:= Lengthem

out[z4]= 25

index O 1 index O
0 Mathematica

in[3s= Part [m 4]

——

out[35]=

ke

nz6i= {Take[m 3], Take[m -271}

out[36]= { {

[—

b

out[37]= { {

[—

Mathematica
Mathematica

n@sl- L = Randond nteger [{1, 10000}, {20}] (+ 1  10.000 20 %)

outssl= {3957, 8219, 5940, 5405, 9291, 2853, 633, 9049, 7436,
6804, 3606, 3413, 9700, 6415, 9815, 7310, 4459, 4065, 8463, 6059}
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in3o}= ? Tabl e

Table[expr, {imax}] €XPr  imax
Table[expr, {i, imax}]1 1 i max expr
Table[expr, {i, imin, imax}] | = imin
Table[expr, {i, imin, imax, di}] di
Table[expr, {i, {i1, iz, ...}}] i1, 02, ...
Table[expr, {i, imin, imax}s {js Jmins jmax}s -]

i

inol= ? Partition

Partition[list, n] list n
Partition(list, n, d] d
Partition[list, {ny, ny, ...}]
Partition[list, {nq, ny, ...}, {dy, dy,
Partition[list, n, d, {k., kg}] list

Ny xNpXx...
] list i (o)

ke list
kr
list
Partition[list, n, d, {k_, kr}, X] X
Partition[list, n, d, {k, kr}, {X1, X2, ...}] Xi
Partition[list, n, d, {k_, kr}, {}]
Partition[list, nlist, dlist, {Klist_, Klistr}, padlist]

ns1:= Partition[L, 4]

outpil= {{3957, 8219, 5940, 5405}, {9291, 2853, 633, 9049},
{7436, 6804, 3606, 3413},

in42]:= ? Li st Convol ve

ListConvolve[ker, list] ker list

ListConvolve[ker, list, k] ker k list
ListConvolve[ker, list, {k_, kr}]

list[[1]] ker[[ky]] list[[-1]] ker[[kgr]]
ListConvolve[ker, list, Klist, p] list p
ListConvolve[ker, list, Klist, {p1, p2, ...}] list pi
ListConvolve(ker, list, klist, padding, g, h] g

Times h Plus

ListConvolve[ker, list, Klist, padding, g, h, lev] ker  list lev

in43):= Li st Convol ve[{2, 3}, {a, b, c, d, e, f}]

ous3= {3a+2b, 6+3b, 9+2d, 3d+2e, 3e+2f}

in[44]:= ? Sel ect

Select[list, crit] crit[g] True list €
Select[list, crit, n] critfg] True n

in4s;= Sel ect [L, PrinmeQ] (= *)
out4s)= {8219, 9049, 3413}

{9700, 6415, 9815, 7310},

>

Partition

{4459, 4065, 8463, 6059}}

>

>

>



in[46):= ? Cases

Cases|{e, e, ...}, pattern]

Cases|{ey, ...}, pattern —>

rhsj

Cases|expr, pattern, levelspec] levelspec

Cases[expr, pattern —> rhs, levelspec]
Cases[expr, pattern, levelspec, n] expr

n471= Cases[L, a_ /; a>8000] (* L

outa7= {8219, 9291, 9049, 9700, 9815, 8463}

inj48:= ? Count

Count[list, pattern] list

pattern

Count[expr, pattern, levelspec] expr  levelspec

pattern

9= Count [L, a_ /; a > 8000]

out[49]= 6

8000

rhs

expr

mathematicaintro.nb

rhs

*)

>

Mathematica

= Nest, NestList

In[50]:= @ = X;

Do For, While

Dofa =f [a], {5}];

a

outs2l= T [f[f [f[f[x]]1]]

in[53):= Nest [f, X, 5]

ourssl= f[f[f [f[f[x]]]]]

in[s4]:= Nest Li st [f, x, 5]

oursal= {X, Fx7], £ 18 x77, £ 0F 06 Ix770, 000 0F [x70700, £ 0F 0F [F [F[x77711}

in[s5):= Nest [Sqrt, 2, 4]

outssj= 21716

m FixedPoint, FixedPointList

a = X,
Wiile[a # f[a],
a

Fi xedPoi nt [f, Xx]

a="f[a]ll;
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Fold, FoldList

In[56]:= a = X;
Do[a=f[a, i], {i, 1, 3}1;
a

oursgl= f [f [f [x, 1], 2], 3]
o= Fol d[f, x, {1, 2, 3}]

oursel= f [f [f [x, 1], 2], 3]

= Map

neo= | = {};
data = {10, 20, 30};
Do [AppendTo[l, f [dataf[i 11, {i, 1, 3}1;
|

outs3)= {20, 40, 60}
in[e4):= Map[f, data]
outjeal= {20, 40, 60}
nes):= Map[f, data] /. {f » Sgrt}

outesl= {20, 40, 60}

Mathematica

ineel:= Count [L, a_ /; a > 8000]
outje6]= 6
in[67]:= count = 0;

Do[lf [LOi ] > 8000, count ++], {i, Length[L]}1;
count

out[69]= 6

!,

Mathematica Help guide/RulesAndPatterns



Mathematica

Mathematica

Mathematica
Fortran

Fortran
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Mathematica

Mathematica

o= Clear [f, a, b];

n7y= fla_, b_1:= \/ a? +b?
ni72r= f [3, 4]

out[72]= 5

f (a, b) =~/a?+b?

in[73):= Cl ear [f];

fra, b] = a?+b?
oui7a)= N @2 + b2

insi= I3, 4]
ou7sl= f [3, 4]
tica

inf7el:= C ear [f];

fra, b]:=1/a?+b?

in7el= f[3, 4]

outrel= T [3, 4]

Mathematica

= Mathema-
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ni7op= f [a, bl

ourre= / a? + b?

Mathematica

ingoj:= C ear [f];

fr, 1 :=\/a2+b2;

f[3, 4]

oufez= / a2 + b?

3

ing3r= O ear [f];

fla, b_]:=1a?+b?;

f[3, 4]

out[ss]= 5

n

injge]:= C = 3;
frla_, b_1:
f[3, 4]

out[ssl= 25

In[89]:= C

out[s9l= 5

ule

In[@o:= € = 3;

fra, b 1:= Nbdule[{c =4 a? + b? } c*c];

f[3, 4]
outj92)= 25
Inf@3]:= C

out[e3= 3

(c =Va?+b?; c*c);

ccceec

Mathematica

Mod-



Mathematica

noar= fra_, b_1:=1/a%+b?
nos)= f [a_, b_] : = Modul e[{c =4 a2 + b? } c *c]

infoel:= ? f

mathematicaintro.nb

Mathematica

|13

d obal * f
fla, b_]:= NbduIeHc =+/a% +b? } cc]

f

7= fIx_]:=x3

infos):= ? f

d obal " f

o= f [0] =1,
fn_1:=nxf[n-1]

inro1:= f [3]

out[101)= 6

inr02):= Cear [f1;

fla_lj:=a+2 /; a>o0
fla_l:=a/2 /; a<Q0;
f[a_]:=0 /, a ==

infroe):= f [-9]

9
Out[106]= - —
2

inpo7)= 2 f
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mpog= fla_/; a>0]:=a=2

Help
tutorial/TwoDimensional Expressionl nputOverview
Mathematica [ ]
: Esc
ML 1 (*» MEsc [[ Esc Esc 11 Esc, M[[ 1] *)
A->B (* A -> <space> B, A ->Bx)
A=» B (# A 1> <space> B, A :> B %)
A==B (» A == <space> B, A == B %)
A# B (» A != <space> B, A 1= B %)
A
- (*» ACrl+/ B Crl+<space>, A/B x)
B
(A+1)3
(» (A+l) Ctrl+6 3 Cirl +<space> CGrl+/ B Crl +<space>, (A+1)"3/B *)
B
VA+B (» Ctrl +2 A+B Ctrl +<space>, Sgrt [A+B] =)
10
th (» Esc sunt Esc, Sum[t?, ({t,1,10}] =)
t=1
delx (» Esc intt Esc, Integrate[x,X] =*)
e (» Esc theta Esc x)
a + B

(» Esc alpha Esc Cirl+- 1 Crl +<space> + Esc beta Esc Crl+- 1 Crl +<space> x)



